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Instructions

Use black ink or ball-point pen

— pencil can only be used for graphs, charts, diagrams, etc.
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Answer all questions.
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Read each question carefully before you start to answer it.
Try to answer every question.

You are advised to show your workings.

Check your answers if you have time at the end.
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(b) Prepare the Process Account for June 2018
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(e) Explain the following terms:

(i) Joint product.
(2)
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(i) By-product.
(2)

(Total for Question 1 = 20 marks)
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(ii) labour fixed cost

(iii) heat, light and power variable cost per unit
(1)
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(iv) cost of hiring one machine

(v) fixed and variable elements of the production overheads.
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S o (c) Explain one difference between a fixed budget and a flexible budget.

(d) Evaluate whether it is more suitable for Lysithea Ltd to use a fixed budget, rather
than a flexible budget.
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(Total for Question 2 = 22 marks)
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(b) Explain why operational overheads are being absorbed on the basis of km, and
administrative overheads are being absorbed on the basis of jobs contracted.
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(d) Evaluate how the over- or under-absorption of overheads calculated in (c) will
affect Themisto Ltd if this continues throughout the remainder of Year 8
(5)

(Total for Question 3 = 17 marks)
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(iii) overhead expenditure

(1)
(iv) overhead volume,

(3)

(b) Give one possible reason for each of the following variances, stated or calculated

in (a):
(i) Material usage.

(m
(ii) Material price.

(1)
(iii) Overhead expenditure.

(1)

. J

15

R A0 A Farm over b
P 5 7 4 7 5 A 0 1 5 2 4



VIUSIHLNEILIYM ION.Od YIUY SIHENEZLIHMNLON:OC YIHY SIHENEI LA LON-Od

DO NOTWRITE IN:-THIS:AREA DONOTWRITEINTHIS AREA DONOTWRITEIN-THIS AREA

e
c -
= ]
© g
U
= O
B4 £v
o
= iy
p o/
‘e i =
=) LI~
)
m AN
[58) = O
O\ w N
L h 2
- 5 i
5 LB
4 o
= ] @
Y )
c -
.S k]
= =Y
\wJ =" 4 B
> b (
=
7 -
(@) ran) =4
S =
Q © ]
Y= ) L2
et -
b7 A
(@] h Wu
o i g
ko) =2 L
[0) 1940
=
= O [
) Py =
o = P O
= 4 =5 Sy i
0 o | @ 2 =
@ 5 O
2 4 T ]
= G = )
U — ] )] ©
e =3 S o =
= 315 .2 5
3¢ . © i
< O | L L
o= B I e =
— ) fann)
) [aYIIR:2

5 7 4 7 5 A 0 1 6 2 4

P

16




_vIWYSIHINIGUMMIONOG

%)
=
o]

5

3
0

2

5%

“DONOTWRITE INTHIS AREA

DO NoTWAITE N THiS REA

“DONOTWRITEINTHISAREA =

(e) Prepare a statement to reconcile the budgeted profit and the actual profit based
on 935 units being produced and sold.
(6)

(Total for Question 4 = 24 marks)
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(a) Calculate the cost of producing one dress using:
« marginal costing
« absorption costing.

You are advised to use columnar format for your answer.

(6)
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The statement of profit or loss, using marginal costing, showed a profit of $46 755

(c) Explain why the profit using absorption costing is different to the profit using
marginal costing.
(4)

(Total for Question 5 = 17 marks)

TOTAL FOR PAPER = 100 MARKS
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